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yazt 3,806.5 285.5 67.5 2,624.8 250.0  2,036.0 338.8 477.3 348.5 3.0 19,986.0  3,332.0 84.61 85.09
ZALH T AR 760.3 50.5 22.5 552.5 42.5 412.0 98.0 87.8 45.0 2.0  4,951.5 621.5 86.29 88.92
AR T AR 261.8 23.5 1.5 176.5 19.0 127.5 30.0 31.8 28.5 - 1,131.0 254.5 84.75 79.71
Bk AR 514.5 27.0 10.0 335.5 36.0 272.5 27.0 80.0 62.0 - 2,256.5 415.5 80.75 83.23
PR T 7ERE 308.5 19.0 6.0 211.5 20.5 155.0 36.0 38.0 34.0 - 1,615.0 241.5 84.77 86.59
BT T R 160.3 14.5 3.5 124.0 13.5 75.5 35.0 18.3 - - 593.5 121.0 87.17 82.65
B SR T AR 55.8 3.5 2.5 43.5 3.0 30.0 10.5 6.3 - - 380.0 52.0 87.44 87.89
=i )5 AR 485.0 46.0 7.0 333.0 44.5 253.5 35.0 54.0 45.0 - 2,176.5 384.5 86.05 84.77
FERE T AR 63.3 4.0 - 40.0 0 38.0 1.0 9.3 10.0 - 285.5 58.0 81.22 81.09
LM T R 120.5 13.5 3.0 94.0 0 57.5 30.5 .5 4.5 - 622.5 132.5 94.47 81.37
T T AR 58.8 6.0 - 40.5 0.5 39.0 1.0 .3 7.0 - 367.0 59.0 88.52 85.56
EEMIT AR 99.0 10.5 - 64.5 0 63.5 - 13.0 11.0 - 490.5 84.5 83.23 84.91
2T ER 238.5 24.0 3. 170.8 17.5 131.5 21.8 32.3 8.5 - 1,235.0 272.5 84.11 80.12
e T R 308.8 16.5 1.0 201.0 16.0 183.0 2.0 50.3 40.0 - 1,315.0 179.5 80.00 87.68
TEUE N 7 2R 16.0 2.0 - 12.0 5.0 7.0 - - 2.0 - 629.0 97.5 100.00 84.82
S5 LR 15.5 - - 10.5 - 10.5 - 3.0 2.0 - 132.0 23.0 77.78 82.58
R T AR 96.3 6.5 4.5 52.0 7.0 39.5 5.5 16.3 17.0 - 506.0 103.5 76.19 81.72
EE T ER 26.3 6.5 1.0 15.0 1.0 13.0 1.0 1.8 2.0 - 123.0 34.0 89.55 78.46
L TT AT 64.8 4.5 0.5 46.0 5.0 41.0 - 8.8 4.0 1.0 258.5 55.0 84.02 80.66
E M T R 72.8 4.0 - 48.5 6.0 42.5 - 7.8 12.5 - 319.0 64.0 86.22 81.19
Rl 7 AR 75.0 3.5 1.5 48.5 5.0 39.0 4.5 8.0 13.5 - 549.0 63.5 85.84 89.34
B T AR 5.3 - - 5.0 - 5.0 - 0.3 - - 50.0 15.0 95.24 70.00
7 AR IR (%) -2.71 -11.47 -31.12 -3.48 -4.03 -4.19 1.50 5.41 9.59 50.00 -2.52 -0.74 -1.11* -0.58*
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